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7XJDV� $NKLU� �7$�� LQL� PHUXSDNDQ� VDODK� VDWX� V\DUDW� XQWXN� PHQ\HOHVDLNDQ� SHUNXOLDKDQ� SDGD�
3URJUDP�6WXGL�7HNQLN�(NRQRPL�.RQVWUXNVL��8QLYHUVLWDV�%XQJ�+DWWD��'DODP�7XJDV�$NKLU�LQL�SHNHUMDDQ�
VWUXNWXU�DWDV�3UR\HN�2IILFH�GDQ�$SDUWHPHQ�7KH�%RXOHYDUG�GLMDGLNDQ�VHEDJDL�VHEXDK�NDVXV�SUR\HN��3UR\HN�
2IILFH� GDQ�$SDUWHPHQ�7KH�%RXOHYDUGV�PHUXSDNDQ� VHEXDK�SUR\HN� SHPEDQJXQDQ�+LJK�5LVH�%XLOGLQJV
\DQJ� WHUGLUL� GDUL� ��� ODQWDL� GHQJDQ� OXDV�EDQJXQDQ� ����������0���$GDSXQ� WXMXDQ� GDUL�7XJDV�$NKLU� LQL�
DGDODK������0HQJXNXU�NXDQWLWDV�SHNHUMDDQ�VWUXNWXU�DWDV�3UR\HN�2IILFH�GDQ�$SDUWHPHQ�7KH�%RXOHYDUGV��
����� 0HQJKLWXQJ� UHQFDQD� DQJJDUDQ� ELD\D� �5$%�� SDGD� SHNHUMDDQ� VWUXNWXU� DWDV� SUR\HN� WHUVHEXW�� �����
0HQ\XVXQ� SHQMDGZDODQ� �.859$� 6�� SDGD� SHNHUMDDQ� VWUXNWXU� DWDV�� ����� 0HQ\XVXQ� DOLUDQ� NHXDQJDQ�
�FDVKIORZ��SDGD�SHNHUMDDQ� VWUXNWXU� DWDV��$QDOLVD�SHUKLWXQJDQ�ELD\D�VWUXNWXU� DWDV�\DQJ�GLODNXNDQ�SDGD�
SUR\HN�LQL�PHOLSXWL�SHNHUMDDQ�NRORP�EHWRQ�EHUWXODQJ��EDORN�EHWRQ�EHUWXODQJ��VKHDUZDOO�EHWRQ�EHUWXODQJ��
SODW�ODQWDL�EHWRQ�EHUWXODQJ��GDQ�WDQJJD�EHWRQ�EHUWXODQJ��'DUL�DQDOLVD�ELD\D�\DQJ�GLODNXNDQ�GLSHUROHK�ELD\D�
5S��������������������'HQJDQ�ELD\D�SHU�PHWHU�SHUVHJL�DGDODK�5S����������������$QDOLVD�+DUJD�6DWXDQ�
3HNHUMDDQ�\DQJ�GLJXQDNDQ�DGDODK�DQDOLVD�KDUJD�VDWXDQ�SHNHUMDDQ�GDUL�SHUXVDKDDQ��VHPHQWDUD�KDUJD�XSDK�
GDQ� EDKDQ� PHQJJXQDNDQ� KDUJD� NRWD� -DNDUWD� 3XVDW� WDKXQ� ������ 'DUL� SHQ\XVXQDQ� WLPH� VFKHGXOH�
GLUHQFDQDNDQ�SHNHUMDDQ� LQL� GDSDW� GLVHOHVDLNDQ�GDODP�ZDNWX����PLQJJX��8QWXN�SHQ\XVXQDQ�FDVK� IORZ�
SHNHUMDDQ�LQL��GLWHWDSNDQ�SDUDPHWHU�VHSHUWL�XDQJ�PXND������PHWRGH�SHPED\DUDQ�0RQWKO\�3D\PHQW�GDQ�
ULWHQVL�����
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